MONDAY weex s

1. There are 17 countries in the world

with names beginning with the letter B

Jon chooses one at random. What is
the probability that it will NOT be

Belize, Botswana, or Burking Faso?

Haplify the expressic

5b“ - 7b + 4t 2_

3. Canada has the longest.coastline of

any country. It is 202,080 km. Ching
has 22,147 km of borders—more

than any other country. What is the
difference between the two lengths?

H. Angle A and Angle B are suppiementary
angles. Angle B measures ?9°. What is the

measure of Angle A2

ITUESDAY week s

1. Compute:

2. Each year, thousands of visitors
fravel to Stonehenge, England, 1o
see the mysterious stone ruins.
What is the surface area of
this block of a stone ruin?

<. Soive tne eguation:

150y = 30

€. Round to the nearest

whole number:

S. The table shows the top five countries
visited by tourists from outside the
couniry. What was the average
number of visitors to one of these
countries in the year 20022
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International Tourist
Destinations

| Country  Visitors
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) 1.France 77,000,000

)| 2.Spain 51,700,000 :

4 3.us. 41,900,000°
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A 4.\taly 39,800,000

N 5 Chies

L'}
» A e
.
. .1...
+'a
S g g
LA S T
T EER TN T . m
I,I:l-,.'f.l' _I"I“- - . I 1
L, s r!-._.
g . e

A

36,800,000

- - e I
. : R S v
M T i T
- 4 F -~ - |

L e

MATH rracT

Ir'\._ r E_‘ his Il.r'o...-n-'-’-.“‘rr -||:u=.-.. :r-I.l l_-:- -y 4l .w.'.ﬁ..m -“.,-“1 Mt g --...-.Erw_'.r sy T ’ ' - -] il
. :.-:-I |-.. ..f- - l’l."!"‘-ll:._{.f.'- - '1':!(':'3‘{‘- - W :.a-...,-_. ry .IL‘_'" = :-"l t ":I_; _.I A '_“r'ﬁ i TR 4=, .= e F='-¢--H‘=‘ -':i-\...-l £ S 'I.':E.Etl- [:'.'--'l'.-l:. i FE e
..".".-n.-'!"., .:"' :; 1__}."‘._"1.1.:.__1‘__11{_“‘1 -\."'-:'_-h-", L THC Rt & ..lq‘._. L "—“":"-"'I'_“ > TR P T R -ty x - ey
L ] it e L R LT - iy Ay e T e T o T B 1o i i i - Lo B :
R T?:‘Jh-‘.“-""a;r}-r-.- TV R A N ERRR s R e R el R
& SRR ROk DF S RO i T L o e B L WS R et TR | L L v
2in Lol T iy Shp i o RRL L R bolie SO raa Rl
) i b 'rhi".ln‘a.'lh"'...ﬂi'r.:' :ﬂr‘uu“}i:u-..h- e g #ﬁ?mk'-h'ahM s l---'—‘*:"-j.::l‘l..a . '-'r:'*?“l e "1'":5 ;i;'-

. 3. Renyata flew from Spain to see the
g Great Barrier Reef off the east coast

+++++

ot Australia. This part of Australia is
ien fime zones east (earlier) of
Spain's fime ‘zone. The Hight took
11 hours and 42 minutes Kenyata

lett Spain at 6:15 am on Monday.
When did he arrive at his Australic

desfination {day and time)?
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. 2. Compute: 21 + =63 =

2. Tyrone claims that he has hiked

3. Circle fractions equivalent to =-.

q.

MATH rracTICE

WEDNESDAY weex s

1~ Change the different elements to a compmon
efamgnT fo solve fhe e 5. What is the difference between the
studemss_in a high scaool gyé duating ciass sreas of the =mallest zouniry and the
;hose from~Nour differepd irips. Sixreen 1 0th smalles: country?
jercent of the™R0 spadents went to Mali
[0 see Timbuktu FOUr- hundredths of | | . | | _

the group wenf to see RQman ruins. Areas of Ten Smallest Countries
one-third-of the students those to stand ‘ L

oS Eyuator i Ecudor Towsgst wen | o | | oo | 7 |

yAew Zealand. How many wentsg , . o0 £

. . T .. . ¥ o 00 pm, Tuesday,

aach destination? Vatican City Liechtenstein | 62 Whi:lnﬂ?mm‘; iy, '

0.7

~§  Marshal | 70
s
_ s 1 i's 500 am, Wednesday,

1 in Tuvalw 's 4 big world, full
of small countries.

3. Fill'in the missing sign: <, >, or =
2]

4. Name two reallife objects that are prisms.

THURSDAY WEEK 8

1. Compute: :
L.
FA " . 5. Solve the problem. Tell what

operations were needed and the

order in which you used them.

four kilometers a day in the The country of Fiji is a
Himalayan Mountain area. Is this collection of 332 islands. Palau
a reasonable measurement? oW is a country of 200 islands.
il The Bahamas has 700 islands.
The country of Indonesia has
16.876 more islands than the

: sum of all the islands of Fiji,

3
6 4 18 29 8 Palau, and the Bahamas. How
9 9 27 33 10 many islands make up the

country of Indonesia?

s this solution correct?
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